8 7 B 5 4 3 2 1
REVYISIONS
ZFOME IREY DESCRIFPTION OATE ARPPROYED
N O —|_ E 5 : — |xB REDRAWN WITH CHANGE FROM LEVEL II 0. CHAMPL IN
TO LEVEL III [NORwIS|Z-3)
|, APPLICABLE STANDARDS/SPECIFICATIONS: 53-05-3 [pys Jome | )
A. DOD-STD-00100D(AR) wo|ADDED_REF CALLOUT TD THREAD SIZE AND LENGTH;
B, ANSI Y|4.5M-1982 B/N -038 WhAs MG;
‘ ‘ PAN —059 WAS ME;
(NOR ¢ Z8B|-2) D.CHAWPL IN
2. MATERIAL: ITEMS FURNISHED TO THIS DRAWING SHALL TABLE TABLE 53_03-31|PJS |oRC
E#EE EE%N CSPEST%%EDIFHw EAHE?EH?TEEFHBEES%LDY T C = - xp|FEVISED TAW WITH THE FOLLOWING NOR(S ]
L, [AW DIN . IAW THE MA AL Y - v E =M
CLASS' IN THE DIN PART NUMBER TABLE. PART NUMBER DIN PART NUMBER THRERD S1ZE et PART NUMBER DIN PART NUMBER THREAD STZE | LENGTH S5-07- 1350 [os
FRODUCT BASEL IMNE
3. FINISH: ITEMS FURNISHED TO THIS DRAWING SHALL HAVE |24 14575-001 | DIN 7985-M1.B X 2-4.d-H-AQD M. X 0,35 - |24 | 7575-043 | DIN 78985-M4 X 2b-4 . B-H-AZD b X O,/ 2o — | ERR S55-R5807 F*ﬂ“ﬂﬁ -
BEEN ZINC PLATED WITH A CHROMATE OVERCOAT IAW DIN 267, |24 4575-002 | DIN 7985-M|.6 X 3-4.B-H-AQD M| .6 | 3 |2414575-044 | DIN 7985-MS X 6-4.8-H-AZD MS X 0.8 5 4 | A || JADDED PART NO. (24 (4575-074 & |2424575-075
PART 3. IAW THE FINISH CODE IN THE DIN PART NUMBER TABLE. 5474575-003 | DIN 7985-M1.86 X 4-4.8-H-AQD M1. 6 1 [2414575-045 | DIN 7985-M5 X 8- 4.8-H-A2D 5 8 Cer ces-Usa0 T RTT
CONMVERTING AMD ROUMDING OFF. [ INCH = 259. 4mm | 24 14575 -005 | DIN 7985-M| .E X bB-4.8-H-A0D M| .G B | 24 | 4575-047 | OIN 7985-M5 X |£-4.B-H-AZD M= | &
AFPPLIES. 124 14575 -006 | DIN 7985-M|.6 X 8-4.8-H-AQD T= = 124 14575-048 | DIN 7885-M5 X |6-4,.8-H-A2D MS T |6
|24 14575-007 | DIN 7985-M|.6 X |0-4.8-H-AQD M| .6 [0 1241 4575-049 | DIN 7985-MS X 20-4.B-H-AZD WS 20
S EEELé$QEEEHB§CEgEmTE'pIHE EEL%EﬁéNED255§@§I$ST%325- |24 14575-008 | DIN 7985-MI[.B X |2-4.8-H-AQD M1 .8 ¥ [2 |24 14575-050 | DIN 7985-M5 X 25-4.8-H-AZ2D M5 X 0.8 25 G
EXTENT SPECIFIED HEREIN. |24 14575-009 | DIN 7985-M|.6 X [6-4,.B8-H-AQD Ml.B8 X 0.35 (6 |24 4575-05( | DIN 7985-M6 X |0-4.8-H-A2D ME X | 10
DIN 7883, CROS5 RECESSED RAISED CHEESE HEAD SCREWS. 124 14575-010 | DIN 7985-M2 X 2-4.8-H-ALD M2 X 0.4 z |24 14575-052 | DIN 7985-M8 X |2-4.8-H-A2D ME 4 E
124 14575-01 | | DIN 79B5-M2 X 3-4.B-H-AID M2 i 3 1241 4575-053 | DIN 7995-M6 X |6-4.B-H-AZD VB 16
5. EEGHQEEHE%SWH%E ,EEESBEEEFE%E?GLEDTEEE ?Eé‘#’égG sHALL |24 14575-012 | DIN 7985-M2 X 4-4.8-H-AID M2 4 |24 1 4575-054 | DIN 7985-ME6 X 20-4.B-H-AZD s 20
IAW DIN 7985. 2414575-013 | DIN 7985-M2 X 5-4.B-H-AID M2 5 |24 4575-055 | DIN 7985-M6 X 25-4.8-H-AZD MB 25
 QUALITY ASSURANGE BEQUIREMENTS: 1TEM |24 14575-014 | DIN 7985-M2 X 6-4.8-H-AID M2 5 |2414575-056 | DIN 7985-M6 X 30-4.8-H-AZD Me T 20
" DELIVERED 70 THIE PRAWING SHALL MEET 2414575-015 | DIN 7985-M2 X 8-4.B8-H-AID M2 g |24 14575-057 | DIN 7985-MB X 35-4.8-H-AZ2D ME X | 35 -
THE MINIMUM BEOQUIREMENTS SPECIFIED IN | 24 14575-016 | DIN 7385-M2 X [0-4,.8-H-AID M [0 | 241 4575-058 | DIN 7985-M8 X [10-4.8-H-A3D M8 X |.25 |2
DIN 267, PARTS, |, 2, 5, 8, AND 9. |24 14575-017 | DIN 7985-M2 X |2-4.B-H-AID M2 7 [2 |24 4575-059 | DIN 7985-M8 X |2-4.8-H-A3D = i E
124 14575-018 | DIN 7985-M2 X 16-4.B-H-AID M2 X 0.4 G 1241 4575-0680 | DIN 7985-M8 X |16-4.8-H-A3D MB 16
124 14575-019 | DIN 7985-M 2.5 X 3-4.8-H-AID MZ.5 X 0.45 3 1241 4575-061 | DIN 7985-M8 X 20-4.8-H-A3D WS 20
|24 14575-020 | DIN 7985-M 2.5 X 4-4.8-H-AID MZ2. 5 A 4 |24 14575-0682 | DIN 7985-M8 X 25-4.8-H-A3D MB 25
124 14575-021 | DIN 7885-M 2.5 X 5-4.8-H-AID M2 .5 5 1241 4575-063 | DIN 7985-M9 X 30-4.8-H-AZD e 20
124 14575-022 | DIN 7985-M 2.5 X B-4.8-H-AID M2. 5 5 |24 4575-0684 | DIN 7985-M8 X 35-4.8-H-A3D MBS ¥ 35 F
|24 14575-023 | DIN 7985-M 2.5 X B-4.89-H-A|D MZ2. 5 3 |2414575-065 | DIN 7985-M8 X 40-4.8-H-A3D ME X |.25 40
|24 14575-024 | DIN 7985-M 2.5 X |0-4.8-H-AID MZ.5 [0 |24 |4575-066 | DIN 7985-M10 X |2-4.8-H-A3D MO X [.5 |2
124 14575-025 | DIN 7985-M 2.5 X |2-4.8-H-AID M2.5 [2 1241 4575-0687 | DIN 7985-MI0 X |6-4.8-H-A3D MO i 16
|24 14575-026 | DIN 7985-M 2.5 X |6-4.8-H-AID MZ2.5 ¥ 16 1241 4575-068 | DIN 7985-M10 X 20-4.8-H-A3D (0 20
|24 14575-027 | DIN 7985-M 2.5 X 20-4.8-H-AID M2.5 X 0.45 20 |24 14575-089 | DIN 7985-MI0 X 25-4.8-H-A3D MO 25
|24 14575-028 | DIN 73985-M 3 X 4-4.8-H-AID M3 X 0.5 4 |2414575-070 | DIN 7985-M10 X 30-4.8-H-AZD Ile 30
|24 14575-029 | DIN 7985-M 3 X 5-4.8-H-AID M3 5 |24 14575-07[ | DIN 7985-M10 X 35-4.8-H-A3D MO 35
124 14575-030 | DIN 7985-M 3 X 6-4.B-H-AID M3 5 124 14575-072 | DIN 7985-M10 X 40-4,8-H-A3D M0 ¥ 40
|24 14575-031 | DIN 7985-M 3 X 8-4.B-H-AID M3 = |24 4575-073 | DIN 7985-M10 X 45-4,8-H-A3D MO X [.5 45
124 14575-033 | DIN 7985-M 3 X 12-4.8-H-AID M3 (2 (24 14575-074 | DIN 7985-M4 X 30-4,.9-H-AZD ME X 0.7 30
24 | 4575 -034 | DIN 79685-M 3 X |6-4.8-H-A D M3 ¥ B |24 14575-075 | DIN 7985-M4 X 35-4.8-H-A2D M4 X 0.7 35
|24 14575-035 | DIN 7985-M 3 X 20-4.8-H-AD M3 X 0.5 20
|24 14575-036 | DIN 7985-M 4 X 5-4.B8-H-A2D M4 X 0.7 5 E
|24 14575-037 | DIN 7985-M 4 X B-4.8-H-AZD M4 I 5 SCREW HEAD DIMENSIONS
124 14575-038 | DIN 7985-M 4 X 8-4.8-H-A20 M4 g
1224 [4575-030 | DIN 7985-M 4 X |0-4.8-H-AZD M4 0 T REF D REF H REF R REF
|24 14575-040 | DIN 7985-M4 X |2-4.B-H-AZD M4 [ 2 MI.B 3.2 .3 0. |
|24 14575-04| | DIN 7985-M4 X |6-4.8-H-AZD M 4 ¥ 16 M2 4 .6 0. |
|24 14575-042 | DIN 7985-M4 X 20-4.8-H-A2D M4 X 0.7 20
M2 . 5 = z Q. | -
M3 8 2.4 0. |
M 4 g 3. 0.2
M5 [0 3.8 0.2
ME [ 2 4.6 0.25
MB 6 5 0.4
Ik 20 7.5 0.4 D
]
\ |
NN T %
D - — — — s T
..-I
%f L ___. |
]
C
R
B
METRIC
FART NO. (SEE TABLE] —
MEDHANTCAL EMIE A UNLESS OTHERWISE SRECIE1en |CONTRAET NUMBRR DEXIAN ACTIVITY
DIMENSIONS AFE IN MILL IMETERS Neylal U.S. ARMY, TANK AUTOMOTIYE COMMAND
ThbmERTIES TOLERANCES QN DM‘EU? 92-C-RO0| WARREN, MICHIGAN 48387-5000
Ll | PLACE 2 PLACE
z e TR spRen sl SCREW,  MACHINE
- L THIRO AMNALEF ENO0JECTION ‘:"_HﬁTJ:GESDE ﬂgluéi é;g-HT-Eﬂ!] CHEESE HEAD "
™ @ =} CROSS RECESSED A
- J.MILLER O, CHAMPL INE== c#dE CODE owa Mg
DISTRIBUTION STATEMENT A: FMTV as
APPROVED FOR PUBLIC RELEASE; NEXT ASS5Y| USED ON p————1"" o A E 19207 24 14275
DISTRIBUTION 15 UNLIMITED. APRLICATION C. WATTS P. MOTZENBECKER VR BRET
+ FILE HAWE 457SAES.EENM TACCH=E=HETRLIC
8 7 B 5 4 3 2 1
AOJiDk=0d4= 10108 [7




